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A2Z2ANY =8 3,231,303 3,166,851 64,452
= 2,721,683
= 156,924
Al 362,696
R AHS 2,130,974 1,940,173 190,801
= 1,917,877
[ 63,929
Al 149,168
101 @124H| 318,506 349,833 A31,327
= 286,999
== 9,485
Al 22,022
M ORNZZ2NSE S 318,506 349,833 A31,327
OXNEZ2AHA 12| & 2823
318,506,000 318,506
= 286,999
=S 9,485
Al 22,022
201 =3 14,240 10,740 3,500
= 12,816
=S 427
Al 997
01 AtR2t2|HI 14,240 10,740 3,500
OX2I2AY =8 A2 SEFU(SYS)
125,000 8K A 1,000




FA S
By HASE BN
ool XE2RAY =A (crol: m2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 900
=S 30
Al 70
OnERRAIY =3 S|
8,000& 102 x4H«12& 3,840
= 3,45
s 115
Al 269
ONE22AMY SHI(SHE)
8,000& »10&»30& 2,400
= 2,160
S 72
Al 168
ONE22AIYET 28 2
7,000,000 14 7,000
= 6,300
< 210
Al 490
202 04l 6,600 6,600 0
= 5,940
< 198
Al 462
01 =LH04H 6.600 6,600 0
OXEZZAE =204t|
10,0003 x2E 152« 12 3,600
= 3,240
== 108
Al 252
OXEZZAE H&IX A0
150,000& x20F 13l 3,000
= 2,700
< 0
Al 210
203 gR=8| 300 400 A100
03 A=A 2= 300 400 A 100
OXgge=x= 300,000 *14] 300
206 M=4| 8,000 8,000 0
= 7,200
= 240
Al 560
01 MZH| 8,000 8,000 0
OXrg22 A =8 I+ (82S)
20,0002 x40H*10& 8,000
= 7,200
& 240




SN OISR
M MASE HEAE
el 22 AY FA (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 560
307 21201 & 1,783,328 1,564,600 218,728
= 1,604,922
= 53,579
Al 124,827
05 glzt?(&= 1,783,328 1,564,600 218,728
OXS e XA
1,783,328,000& 1,783,328
= 1,604,922
== 53,579
Al 124,827
KNS THgdE 24 448,760 467,940 19,180
= 282,551
= 53,899
Al 112,310
307 el2to| & 448,760 467,940 /19,180
= 282,551
= 53,899
Al 112,310
10 Al SXAIEEHE 22X 448,760 467,940 19,180
OXYXEHE 2l 403,644,000 403,644
= 282,551
[ 40,364
Al 80,729
OXISIH2HE! AtedlZtelAb XIS AFS
36,476,000& 36,476
= 10,943
Al 25,533
OBAASEE S 8,640,000& 8,640
== 2,592
Al 6,048
2259 Us ==SA2 Ex=sA3AMY 651,569 580, 166 71,403
= 521,255
== 39,096
Al 91,218
308 AHXIHMS0IA 651,569 0 651,569
= 521,255
= 39,096
Al 91,218
183 SIS0t 4R ASAIE] 651,569 0 651,569
OsIYM=AX | NES
59,567,000& 59,567
= 47,654
= 3,575




SN OISR
M HASE NEXE
el 22 AY FA (EEEE))
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
Al 8,338
OSIYREHZ || N2
25,364,000& 25,364
= 20,291
& 1,622
Al 3,551
OFEUNL S HEFH(RHARI0/6H) KRS
403,826,000 403,826
= 323,061
= 24,230
Al 56,535
O TEMEES e NEE S IBETE
97,931,000& 97,931
= 78,345
& 5,876
Al 13,710
O3WN=sE | N3 17,938,000 17,938
= 14,350
& 1,077
Al 2,511
O3W=sZI KNS 16,163,000 16,163
= 12,930
= 970
Al 2,263
ougrIss& N3 12,031,000 12,031
= 9,625
= 721
Al 1,685
OHEEM=AHZ KAS 18,749,000 18,749
= 14,999
& 1,125
Al 2,625
FHUHE S & AHA 452,693 452,766 AT3
= 42,769
= 14,070
Al 395,854
Al Heteh SEEAL AR 24,915 24,915 0
&l FES SEXRAN AR 24,915 24,915 0
201 Let23| 9,855 9,85 0
01 ArR2eltl 5,200 5,200 0
O=Xaga 29 50,0002+ 12JH & 600
OSETAIZEIERFE S|
4,600,000 4,600
02 23244l 4,655 4,655 0




SA FUS
B oE 5 U N
ol Al MEE SEEA X (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSSN RUE 23
4,655,000& 4,655
202 04dl 15,060 15,060
01 2L AL 15,060 15,060
OSXUHEA HESZ A
20,0002« 1062+ 12042 14,400
OSSXAL 22 =& 04|
66,0002 %10 660
ANHSAES 243t 339,802 318,510 21,292
= 42,769
< 14,070
Al 282,963
NASALRH ZCIUIOIH I 126,708 117,976 8,732
= 33,234
Al 93,474
101 @124H| 114,468 105,736 8,732
= 33,234
Al 81,234
03 SRA(RIH )22 U2+ 114,468 105,736 8,732
OX& S AL 2OIUI0IH 2124
66,468,000& 66,468
= 33,234
Al 33,234
OJNEZ(RBEE], HLL €)
2,000,000 «2& 12 48,000
M HA=FESS 12,240 12,240
04 SR (RIH)22N BE=RES S 12,240 12,240
O=EgsRE= 6,120,000& »2H 12,240
AESAHAL 288 A& 19,070 19,070 0
= 9,535
Al 9,535
307 212+01™ 19,070 19,070 0
= 9,535
Al 9,535
06 2= 19,070 19,070 0
OXNESAHAL doi28 X2
19,070,000 19,070
= 9,535
Al 9,535
A SAHKIE 127,884 119,884 8,000
s 14,070
Al 113,814
201 et 3| 11,644 12,644 1,000
01 At22t2l] 10,924 11,924 A1,000




FA S
B FoE ©5 U A
el NASAES 8435 (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
ONESAH 23 222 & =2 HA
2,000,000& 2,000
OXESAL =8 22F 7
600,000 *52 3,000
OXHASAH 23 AFS|, MOILL #IF S5l
70,0003 x3EH *22] 420
OXoll & XH2ASALAF =ESXHE it=
800,000& #2CH*22] 3,200
OXESAE SR =& SEH|
8,000& x3&+8L+ 123 2,304
02 S22l 720 720 0
OXASAIEH 23| 3/
60,000& « 122 720
202 04| 8,240 8,240
01 2L AL 8,240 8,240
OXESAESR =& o 8,240,000& 8,240
203 BR8] 300 400 A100
03 AIF&IH 2= 300 400 A100
ONESAER =8 150,000 *22 300
206 =4I 90,500 79,400 11,100
= 14,070
Al 76,430
01 =4l 90,500 79,400 11,100
OXN2SAL 2435t 22 ™
50,000,000& 50,000
== 14,070
Al 35,930
OHO0Pte MsSAH Z20IxIHAl
6,000,000& 6,000
OdlHAMs N7 7Y 2,000,000& 2,000
Ol 2lots Bl T2 X
2,500,000 2,500
OREEYL 29 30,000,000 30,000
301 2N = 8,200 10,200 A2,000
11 EAAHIXIES 7,700 8,700 A1,000
OXESAL 1= & Ads AKX 24
3,500,000& 3,500
OXESAA S&X Ast S HAX a2
3,000,000 3,000
OXASAH OIOLI0IE & el &4 Ba3
500,000 500
ONASAL 23| &4 Eaz
700,000 700
14 DBt 2 a3 500 1,500 21,000
OXESALRF &bl X2 500,000 500
401 AlEHIZ S 0HYI 9,000 9,000 0




SA FUS
B FoE ©5 U A
el AEsSAeEs 243 EEREE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 9,000 9,000 0
OZFI-E A HIIS XMeldl
600,000 %15 9,000
AESAHE 29 22,140 17,580 4,560
201 Zet=3h] 14,140 9,580 4,560
01 AtR2t2|HI 4,500 3,060 1,440
OXESAEH 28 4223 7Y
100,000 7 5+32] 2,100
Om4I| ags 40,0002 x20H 128 960
ORRZAHIE ROIZHIAIAL Sl
120,000& * 122 1,440
02 S3=gHl 9,640 6,520 3,120
Oo&IIe3 40,0002 122 480
OPJES L= 30,0002« 12& 360
OAlZ &I Xl 2,000,000& *24] 4,000
Oulloizd AUl A 150, 0002 * 1204 1,800
OXESAtLIsEH 28 HAa
3,000,000 3,000
401 AIEHIZ SR OHYI 3,000 3,000
01 Al&HI 3,000 3,000
O SAMLsHE S22+
1,500,000& *24] 3,000
405 AHatE S 5,000 5,000
01 ML ESFSHI 5,000 5,000
OXIEZALISE IR 7Y
5,000,000& 5,000
AZSAH A =2 44,000 44,000 0
201 et 3| 31,000 31,000
01 AtR2t2|H] 3,200 3,200
O"AL 28 225 78
80,0003 x20JH*22] 3,200
03 A= &I 27,800 27,800 0
OXNESAH HIAEE 29
18,000,000 18,000
ONESAAS & 23 9,800,000& 9,800
301 Eet2 NS 13,000 13,000
11 #AIAHIXIE S 13,000 13,000
OXESA HIAEIE HA 2o
9,000,000 9,000
OXNESALAS & &4 2o
4,000,000& 4,000
NaSaolde ot gnd 87,976 109,341 A21,365
MESHAE JISHele 2 87,976 109,341 ~21,365
201 er=23y| 10,476 12,681 N2,205
01 AtR2t2|HI 2,502 3,366 A864




RS IE i
B Fo|E 25 U A
CHel: HASZTOIME OHETI (ol m2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OXKYURDISH S22 NH
300,000 *23] 600
ORI |ISH LRF2 S|
8,000 x2& 6« 123 1,182
Ol 20| sH II=tl
250,000 *3& 750
02 S5=g4l 7,974 9,315 1,341
OIS 28 sz =
80,0002 123 960
OKHIAI IS e RS KAl
65,0002 *1CH 65
OKMERIZI|SH 12 BENLLD
50,0008 *22] 100
OXKYURD|ISH e RFI
1,537 24, 500km*15% 5,649
ORI |ISH e KX =il
100,000 «12& 1,200
202 04| 6,000 5,760 240
01 =LHO LI 3,840 5,760 21,920
OIS SXEE & ==l
160,000 x2&« 123 3,840
02 A0 2,160 0 2,160
OKMS2I2IISH X8 L +=2/0BI(3
2A) 180,000 x1&* 122 2,160
206 M=H| 11,500 30,900 219,400
01 M=8l 11,500 30,900 19,400
O&Il, JIH & 225 7
50,0003 20552 5,000
O=k, 22d & =M 7
100,000& #55+33] 1,500
Oar28=cl, & 423 +¢
100,000 x105+32] 3,000
OARE SSAEE =2l 7
100,000& x205+12] 2,000
401 AIEHIZL S0 60,000 60,000
01 Al&H| 60,000 60,000
OMEBSEAE A7 28 U Fy|
60,000,000& » 14 60,000
Hegs (==X 1,351,526 1,344,721 6,805
WA XIE 1,351,526 1,344,721 6,805
JIERHEES(2E-ARSH) 1,351,526 1,344,721 6,805
701 JIEtRI HSHES 1,351,526 1,344,721 6,805
01 et AN ES 1,351,526 1,344,721 6,805
OA=380SEH HES
1,351,526,000& 1,351,526




